
Determineren Verba – Aoristus      Niveau: Pallas 18 

 

Opdracht 1: Geef de gevraagde aoristusvormen (sigmatische aoristus) 
 

1. 1
e
 sg. ind. aor. Act. < ajdikevw  -  …………………………… 

2. 1
e
 pl. ind. aor. Act. < aijtevw  -  …………………………… 

3. 2
e
 sg. imp. aor. Act. < ajkouvw  -  …………………………… 

4. 2
e
 pl. ind. aor. Med. < ajnoivgw  -  …………………………… 

5. 3
e
 sg. ind. aor. Act. < ajpopevmpw -  …………………………… 

6. 3
e
 sg. ind. aor. Med. < basileuvw -  …………………………… 

7. 1
e
 pl. ind. aor. Med. < blevpw  -  …………………………… 

8. 2e sg. imp. aor. Med. < e[qelew  -  …………………………… 

9. inf. aor. Med. < qavptw   -  …………………………… 

10. 1
e
 pl. ind. aor. Med. < kratevw  -  …………………………… 

11. 2
e
 sg. ind. aor. Med. < logivzomai -  …………………………… 

12. 3
e
 sg. ind. aor. Med. < oi[comai  -  …………………………… 

13. 1
e
 sg. ind. aor. Act. < peivqw  -  …………………………… 

14. 2
e
 sg. imp. aor. Med. < plevw  -  …………………………… 

15. 1
e
 sg. ind. aor. Med. < kalevw  -  …………………………… 

16. inf. aor. Act. < trevpw   -  …………………………… 

17. 2
e
 pl. ind. aor. Med. < tavttw  -  …………………………… 

18. 3
e
 pl. ind. aor. Med. < carivzomai -  …………………………… 

19. 2
e
 pl. imp. aor. Act. < blavptw  -  …………………………… 

20. 1
e
 sg. ind. aor. Med. < bohqevw  -  …………………………… 

21. 2
e
 pl. imp. aor. Med. < ejpainevw  -  …………………………… 

22. 1
e
 pl. ind. aor. Med. < ojnomavzw  -  …………………………… 

23. 2
e
 sg. imp. aor. Act. < zhtevw  -  …………………………… 

 


